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QUESTION 1

You are analyzing the IMSDeliveryMode header field for all the messages for all the queues deployed to your
JMSServer.

Which two values do you expect to find for this header? (Choose two.)

A. PERSISTENT

B. NON_PERSISTENT

C. TRANSIENT

D. PERMANENT

E. MULTIMODE

F. EXACTLY_ONCE

Correct Answer: AB

JMSDeliveryMode specifies PERSISTENT or NON_PERSISTENT messaging.

Reference: http://docs.oracle.com/cd/E12840 01/wls/docs103/jms/fund.html

QUESTION 2

Examine the illustration: Which best describes the above illustration?
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WebLogic Server

N

.
Single WLS connection

A. depicts an Active GridLink Data Source between WebLogic Server and an Oracle Database service that includes two
RAC nodes

B. depicts a FAN-disabled Data Source between WebLogic Server and an Oracle Database service that includes two
RAC nodes

C. depicts a Multi Data Source between WebLogic Server and an Oracle Database service that includes two RAC
nodes

D. depicts a Data Source using SCAN between WebLogic Server and an Oracle Database service that includes two
RAC nodes

Correct Answer: C

QUESTION 3

You are tasked with creating an Extension Template for an existing domain.

What are three options that are presented during the extension creation process? (Choose three.)
A. Use Domain as a Source

B. Use Template as a Source

C. Scripts and Files

D. SQL Script Files

E. Company Name
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F. Revision Number

G. Creation Date

H. Operating System requirement
Correct Answer: ABD

AB: The Select a Template Configuration Source window prompts you to choose the application template or domain
directory from which you want to create an extension template.

D: The Import SQL Scripts window prompts you to add SQL scripts for each database that you expect to be used with
the domains created from this template.

Reference: https://docs.oracle.com/cd/E13196_01/platform/docs81/confgwiz/appbuild.html

QUESTION 4

Examine the domain diagram: Assume all servers are up and running and you have just started an offline WLST
interactive session. Assume further that the username/password "weblogic/Welcomel" maps to a valid administrator.

TestDomain
saerverll sarver03
7101 17101

clusterdl

AdminServer
s 7001 saerverid2 sarvaerl4
17201 17201
machineOO server2l serverl2
host00.acme . com : 7301 7301
machinas0l machinel2
host0l.acms .. com host02.acme . com

You type two lines of WLST code: connect('weblogic\\',"Welcome1\\',"host02.acme.com:7101\\') print cmo.getType() +
“:\\' + cmo.getName()

What will be printed? (Choose the best answer.)

A. Domain:TestDomain
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B. DomainRuntime:server03

C. Server:server03

D. Machine:machine02

E. Session:weblogic

Correct Answer: A

Example: The following example displays information about the current MBean, cmo.
wls:/mydomain/serverConfig> cmo.getType() ‘Domain\\'

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs92/config_scripting/reference.html

QUESTION 5

What is the difference between a WebLogic Diagnostic Framework (WLDF) watch and a notification? (Choose the best
answer.)

A. A watch compares WLDF instrumentation data to a rule and sends a notification SMS text message.

B. A notification compares WebLogic log data to a rule and notifies a watch when the rule is true.

C. A notification compares WLDF instrumentation data to a rule and notifies a watch when the rule is true.
D. A watch compares WLDF metric data to a rule and triggers a certain notification action.

Correct Answer: D

Reference: https://docs.oracle.com/middleware/1212/wls/WLDFC/config_notifications.htm
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